Math Numbers and Operations 4_1

Student Name: Date:

Which value is greatest?

How many dimes are in 90¢?

A. 2.01
B. 2.22
C. 1.83
3 4.
Jack buys a toy for $1.75. &
1.25 1.75
He pays $5.00.
He gets ___ back. Which is here?
A. $6.75 A. 1.70
B. $2.50 B. 1.50

C. $3.25 C. 1.60
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Which is here?

A. 0.125 A. 0.75
B. 0.250 B. 0.15
C. 0.185 C. 0.50
7 8.

L ] Missy needs $8.00.
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I O I A S S | She has $1.70.

What amount is gray? How much more does she need?

A. 22 A. $6.50
B. 2.0 B. $6.00

C. 25 C. $6.30



Cy pays $10.00.

He gets __ back.

A. $6.25
B. $5.50
C. $6.50
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A. 8.163
B. 181.63
C. 89.01
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A. 0.25
B. 0.50
C. 0.75
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Which is here?
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A. 0.333
B. 0.033
C. 0.300




13.

How much more do they need?

3 sisters want to buy a $10.00 gift.

They have $3.25, $2.50 and $2.00.

A. $3.25
B. $2.00
C. $2.25

15.

67.010= __

A. 67.00
B. 67.01
C. 6.701
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